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NEW QUESTION 1
What do customers using the ISR 4000 and ISR 1100 series routers need to do to enable the Web User interface?

A. nothing, it is configured by default
B. purchase a license and configure an admin account for up to 5 routers
C. complete a configuration process with help from Cisco support
D. purchase a license for the browser-based system

Answer: A

NEW QUESTION 2
Which Cisco product is the network management system,foundational controller,and analytics platform all the center of ……. network?

A. Cisco DNA Spaces
B. Cisco Meraki
C. Cisco DNA Center
D. Cisco Wireless Solutions

Answer: C

NEW QUESTION 3
What is one of the key drivers of growing security threats in the market?

A. comprehensive security solutions
B. security solution fragmentation
C. increased demand for cybersecurity professionals
D. hardware with integrated security solution

Answer: B

NEW QUESTION 4
What is one benefit of the Aironet 4800 AP?

A. cost-effectiveness for small-to medium-sized deployments
B. modularity for investment protection
C. Cisco CleanAir
D. industry-leading hyperlocation

Answer: D

NEW QUESTION 5
Which portfolio of Cisco routers supports Aggregation?

A. CSR 1000V
B. ASR 1000
C. ISR 4000
D. ISR 900

Answer: C

NEW QUESTION 6
Which statement correctly describes how Cisco Meraki devices behave should they be unable to contact the Meraki Cloud server?

A. The network devices will attempt to establish a connection to a locally hosted database server that has been configured for high availability.
B. The devices may be re-initiated into a backup mode if an administrator manually intervenes using a direct, local connection.
C. The network stops passing traffic across all devices and the interfaces including any connected nonCisco Meraki devices.
D. The network devices continue to function normally (traffic lows at full rate) but management and configuration functions are interrupted.

Answer: D

NEW QUESTION 7
What is one capability of the Catalyst 9200 web user interface?

A. integrating with compatible Cisco routers
B. providing AMP support
C. opening a case with Cisco Technical Assistance Center
D. monitoring selected sections on the dashboard

Answer: D

NEW QUESTION 8
What switching product should you lead with for a midmarket customer?
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A. Catalyst C9200
B. Catalyst SG 550xG
C. SG250X
D. C2960L

Answer: B

NEW QUESTION 9
What is one challenge commonly facing Express Specialization Networking customers?

A. shrinking IT budget and resource scarcity
B. low number of devices connected to the network
C. do-it-yourself approach to network management
D. large, highly bureaucratic IT departments

Answer: A

NEW QUESTION 10
Where on the Web User interface can customers find details of application visibility and control?

A. the monitoring panel
B. the dashboard
C. configuration
D. troubleshooting

Answer: B

NEW QUESTION 10
Which combination of MS switch models is supported foe physical stacking with each other?

A. MS120-8 and MS120-24
B. MS350-48 and MS350-24X
C. MS225-48 and MS350-48
D. MS225-24 and MS425-16

Answer: B

NEW QUESTION 12
Which is a feature of certain Cisco RV series routers?

A. Intelligent Path Control for policy-based routing
B. integrated Sourcefire Intrusion Prevention
C. intelligent caching with Akamai Connect
D. secure VPN access for 5 to 100 users

Answer: D

NEW QUESTION 16
Which feature solution of Cisco DNA Center drives the concept of SLA and guarantees that the infrastructure is doing what you intended it to do?

A. Cisco DNA Assurance
B. Cisco ACI Anywhere
C. Cisco DNA Spaces
D. Cisco HyperFlex

Answer: A

NEW QUESTION 19
Which Catalyst 9800 series controller would you recommend for a small branch and campus deployments up to 200 APs?

A. Catalyst 9800-SW
B. Catalyst 9800-CL
C. Catalyst 9800-40
D. Catalyst 9800-80

Answer: A

NEW QUESTION 20
Which of these statements clearly depicts increasing sophistication in the security threat landscape?

A. 65% of attacks evade existing security tools
B. 66% of connected devices are mobile
C. 28% of top security constraints are caused by product compatibility
D. 25% of users spend their worktime off network
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Answer: A

NEW QUESTION 24
Which of the following best describes the ISR 1000?

A. a routing solution for customers who do not need an SD-WAN architecture
B. a high-performance single platform capable meeting Gigabit forwarding performance needs
C. a high-performance platform that offers SD-WAN, comprehensive security, and wired and wireless access
D. an entry-level platform delivering WAN, comprehensive security, and cellular connectivity

Answer: D

NEW QUESTION 27
Which statement is true about Cisco Mobility Express?

A. It must be connected to a separate physical wireless controller to provide full enterprise features.
B. It can be deployed in under 10 minutes with an easy 3-stepover-the-air configuration wizard.
C. It comes with a simple, easy-to-use vManage dashboard.
D. Customers must purchase a license to support more than 50 APs.

Answer: B

NEW QUESTION 32
What is one advantage of Umbrella branch package?

A. prevent already-infected devices from connecting to command and control
B. prevent guest or corporate users from connecting to malicious domains and IP addresses
C. deploy the branch package on a Cisco ISR4K router in 4 easy steps
D. no client side configuration required

Answer: B

NEW QUESTION 35
What is one benefit of the Cisco 1100 ISR router over the 900 ISR router for mid-size organizations?

A. The 1100 ISR provides support for xDSL types of WAN interfaces
B. The 1100 ISR is compatible with all Cisco switches.
C. The 1100 ISR provides APIC support.
D. The 1100 ISR includes built-in firewall and advanced QOS features.

Answer: C

NEW QUESTION 36
What would be an indicator that a customer could benefit from a Meraki cloud-managed network?

A. Customer needs modular hardware customization and granular, command-line level interfacing
B. Customer prefers direct access to on-premises appliances and servers via in-line terminal management
C. Customer requires end to-end visibility and a network that can be quickly deployed and easily managed by a limited IT stat
D. Customer seeks to implement a diverse solution of firewalls with 3rd party integration alongside other cloud application.

Answer: C

NEW QUESTION 37
Which series of routers are a good fit for small and midsize business customers who have limited space but need best-n-class routing?

A. Meraki MX Series
B. 4000 Series ISR
C. RV Series
D. 800 series ISR and 1100 Senes ISR

Answer: D

NEW QUESTION 41
What is Cisco Switch Selector?

A. a tool that can help customers compare options and identify the right switch for their needs
B. a dashboard view of all an enterprise's switches
C. a configuration tool that helps small business customers rapidly deploy a new switch
D. a cloud-based solution to optimize network performance

Answer: A

NEW QUESTION 44
What is the key architectural component that allows Cisco Meraki's datacenters to be fully HIPAA and PCI compliant?
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A. non-existent command line interface
B. controller and server-free design
C. Layer 7 application fingerprinting
D. out-of-band control plane

Answer: D

NEW QUESTION 46
What is one benefit of Cisco Umbrella?

A. view of the network at a fixed point in the past to troubleshoot issues
B. protection against command-and-control callbacks
C. easy hardware installation
D. real-time telemetry

Answer: B

NEW QUESTION 48
Which statement is true regarding Next Generation Firewall (NGFW)?

A. blocking malicious destinations before a connection is ever established
B. facilitating critical protection from constant, dynamic, and rapidly evolving web threats
C. reducing fragmentation by integrating with other Cisco security and network solutions integrating deep visibility, preeminent
D. intelligence, and superior protection

Answer: B

NEW QUESTION 49
......
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